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Booklet does not have any unprinted or torn or missing pages or items etc. If so, immediately
contact the Invigilator and get it replaced with another Question Booklet.

2. This combined Question Booklet is divided in two Sections, Section—'A' and Section—*6'.

3. Section—'A' contains SO questions of General Studies. All questions are in Hindi and English
languages. All questions are compulsory.

4. Section—B' contains 100 questions of concerned Geology subject. All questions are in Hindi
and English languages. All questions are compulsory.

5. All questions carry equal marks. 03 marks will be given for each correct answer. There is a
provision of Negative Marking. For each wrong answer, 01 mark will be deducted.

6. Read carefully the instructions given on the Answer Sheet (OMR) supplied and indicate your
answers accordingly.

7. Kindly make necessary entries on the Answer Sheet (OMR) at the places indicated and nowhere
else.'

8. Examinee should do all rough work on the space meant for rough work on pages given at the end
of the Question Booklet and nowhere else, not even on the Answer Sheet (OMR).

9. If there is any sort of mistake either of printing or of factual nature in any question, then out of
the Hindi and English versions of the question, the Hindi version will be treated as standard.
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—3T

TTEJr ^ cftH 1^ teit ̂ STRTfM

[A] MdRd-NI, TTTft^TT,

[B] Tjfe, TilPRfT

[C] triT, ̂ TTft^n

[D] ̂TT^TH, HblO, J^-SI

■R^ 31^

[A] «iHIWld

[B] "f^

[c]

[D]

1920"^, Ro cftR
^ ̂  T?^ 31^ % 1^

5ft?

[A] ^ftWT

[B]

[C]

[D]

R^ 31^ "^TTRR 37Z^ Rt^5fRT
cRRT^ff 3n^ ̂ ftRT f^d41 "t?

[A] 15 ft 40

[B] 18 R^ ft 40 R^

[C] 15 R^ ft 60 R^

[D] ISR^ ft 60R^
28-A

5. RiR 3(^ ̂  3rgw ftRftR ft̂ , #RfM^
ft ftR^f^t?

[A] RMTRR■^RR^

[B] Rft ftt^

[C] RTRTT^RRJSft

[D] RMTRR Tt^

6. 3TTftM4 RRT 3TTftM6 RiT T3^ ̂  1^
ft ft ^--RTt?

7.

[A] 16-fe3ftK 32-1^

[B] 32-fe 3fti: 64-fe

[C] le-feaftl 128-fe

[D] 32-fe3ftl 128-fe

RQTR^R^nR?TXIR3Tf¥¥lR, 1993 R^
R^ 1994ftR^ eTT^'feRTRRT RT?

[A] 25RRRft

[B] 25^

[C] 25 RRTRT

[D] 25 "f^RTRT

8. RftR-ft! rMrRT WR RR ftR ftfftR
RR Rft t ?

[A] RftRRgi

[B] ftTTRT

[C] Rffe

[D] RftT

d



Which are the three special
backward tribes in Madhya
Pradesh?

[A] Pataliya, Maria, Dhobi

[B] Gond, Kandara, Mogiya

[C] Sahariya, Baiga, Bhariya

[D] Pardhan, Pathari, Munda

Which district of Madhya
Pradesh has the highest male-
female ratio?

[A] Balaghat

[B] Bhind

[C] Jhabua

[D] Gwalior

In 1920, under the leadership of
Pandit Ravishankar Shukla, one

of the three Congress
Committees was formed in which

region of Madhya Pradesh?

[A] Bhopal

[B] Sehore

[C] Mahakoshal

[D] Guna

What is the age limit of
beneficiary for Atal Pension
Yojana of Madhya Pradesh

Government?

[A] 15 years to 40 years

[B] 18 years to 40 years

[C] 15 years to 60 years

[D] 18 years to 60 years

SECTION—A

GENERAL STUDIES

5. Wh

28-A

ere among the following is
the major manganese belt of
Madhya Pradesh located?

[A] Balaghat and Mandla

[B] Shahdol and Sidhi

[C] Sagar and Katni

[D] Balaghat and Chhindwara

6. The address spaces of IPv4 and
IPv6 are

[A] 16-bit and 32-bit

[B] 32-bit and 64-bit

[C] 16-bit and 128-bit

[D] 32-bit and 128-bit

7. When was the Madhya Pradesh
Panchayat Raj Act, 1993
implemented in the year 1994?

[A] 25th January

[B] 25th June

[C] 25th November

[D] 25th December

8. Which major project is not a part
of Dhasan and Ken Basin?

[A] Bariyarpur

[B] Rangawan

[C] UrmH

[D] Harsi

[P.T.O.



9. ^ TT5TOT ^ %

^ ̂  ^3iRT WT t ?

[A] ̂

[B] ̂ W

[C] #Fr

[D] ̂

10. *T^3ft/%TMw^3q%^^5TFl^

(1) W^.^

(2) TTTRter

(3)

[A] 2

[B] 3

[C] 1 3^ 2

[D] zqrTtH^

11. Rnl^fed ■? M 2023 % 1^

W|3n?

[A] W ^

[B] JHlf^^4Hl^<N <<^11^ 3ftT3Fft^^TO

[C]

[D] <Hlf^^JHI^<N 3ftT l^m

28-A

12. 11 2023

ttT^ "gRl finfcif^a "S ^ "tef
W m?

[A] Rl^Rld @ 2047 : ̂ 3^ ̂
3^T^

[B] feR @ 2047 :

[C] ^3Tr ^ 3TRR @ 2047 : Wf

[D] [^4)ftd ^TPCcT @ 2047 : ̂ 3?! ̂

13. Mi, 2024 ^ % TTfqft ^
^fcfT if 1^3 Tjf sft?

[A]

[B] 3R^

[C]

[D] im

14. W"51^ Pb^nl % 4ie4l>J| %
"f^^HR d^rM|U| %3RT' 1^

M^^mM-^Mi 3ft?

[A] 2018

[B] 2019

[C] 2020

[D] 2021



9. Majhgawan mine in Madhya
Pradesh is known for production
of which mineral?

[A] Diamond

[B] Graphite

[C] Iron

[D] Copper

10. Which of the following is/ are the
social networking sites used by
scientists / researchers?

(1) SciSpace.net

(2) Epemicus

(3) ResearchGate

[A] 2 only

[B] 3 only

[C] 1 and 2 only

[D] All of the above

11. Who among the following
received the Major Dhyanchand
Khel Ratna Award' in badminton

for the year 2023?

[A] Sharath Kamal and Framed
Bhagat

[B] Satwiksairaj Rankireddy and

Pramod Bhagat

[C] Chirag Chandrashekhar
Shetty and Sharath Kamal

[D] Satwiksairaj Rankireddy and
Chirag Chandrashekhar
Shetty

28-A

12. On 11th December, 2023, which

of the following was launched by
Prime Minister Shri Narendra

Modi?

[A] Viksit Bharat @ 2047 : Voice
of Youth

[B] Vision @ 2047 : Samarth
Bharat

[C] Voice of Youth @ 2047 :
Samarth Bharat

[D] Viksit Bharat
Dream of Youth

2047 :

13. In May, 2024, the President of
which country died in a
helicopter crash?

[A] Iraq

[B] Saudi Arabia

[C] Bahrain

[D] Iran

14. In which year, Mukhyamantri
Kisan Kalyan Yojana' was started
for the welfare of farmers by
Madhya Pradesh Government?

[A] 2018

[B] 2019

[C] 2020

[D] 2021

p.T.O.



15, ̂  "fen

wit?

[A] ̂

[B]

[C] ihI-ni^Ih

[D] "ciN^rl

16, ^rMANG' ^ ̂ t

[A] 3T^

[B] 4lcj|^d W

[C] W

17. WctlfJid "TO PlH "t "f^iH (TiWm

d^41ch ̂  3r^ <icii^<ui t?

[A]

[B]

[C]

[D]W'^3TT|c^

18. ITSSI "at?! WR ̂'3TT^ 3I35H ̂ ^toT'
% c^TPTM? "f^^ITSff t ?

[A]

[B] Imwsi

[C] 3I3^f^^5R5rTft

[D]

28-A

19. TMT"HFTT% Hlddl ̂

3TWFT ̂  :3t W 1^ m?

[A] [cidld< WT

[B]

[C] "^R q^l^i

20, TT^ 3UHITSII "at^ % "fen 1^

^  t?

[A] "3^^

[B]

[C]

[D]

21, Tlf^R^d 2023^3}cTife,

'^Iu|Ni4 ii<^K'1^3RRfen W?

[A]

[B] a^r^kM

[C] ̂ rf^^RK

[D] 3TlTo 41o ̂ ^^1

22, % <-cnichK t ?

[A]

[C] ^

[D] 461^41 ̂



15. In the production of which crop,
Madhya Pradesh ranks first in
the country?

[A] Wheat

[B] Jowar (Sorghum)

[C] Soyabean

[D] Rice

16. In E-Govemance, UMANG stands

for

[A] Ultra Mobile and Governance

[B] Unified Mobile for
E-Govemance

[C] Unified Mobile Application
for New-Age Governance

[D] Unified Mobile Application
for Nation Governance

17. Self-driving cars are the best
example of which machine
learning technique?

[A] Supervised learning

[B] Reinforcement learning

[C] Unsupervised learning

[D] XAI learning

18. Which is the beneficiary student
category of 'Aahar Anudan
Yojana' of Madhya Pradesh
Government?

[A] Scheduled Caste

[B] Backward Class

[C] Scheduled Tribe

[D] All of the above

28-A

19. During which ruler's reign did
Rana Sanga invade Malwa and
imprison him?

[A] Dilawar Khan

[B] Alp Khan

[C] Baz Bahadur

[D] Mahmud II

20. In which district of Madhya
Pradesh is Satpura National Park
situated?

[A] Ujjain

[B] Gwalior

[C] Hoshangabad

[D] Bhopal

21. Who has been awarded

'Dronacharya Puraskar' in
'Mallakhamb' under National

Sports Award, 2023?

[A] Ganesh Prabhakaran

[B] Mahavir Saini

[C] Lalit Kumar

[D] R. B. Ramesh

22. Who is the author of

Veerbhanudaya?

[A] Jaishankar Prasad

[B] Maithili Sharan Gupt

[C] MadhavKavi

[D] Mahadevi Verma

[P.T.O.



23. ^ ̂ "I

[A] WT

[B]

[C] i-'wSz

[D]

24. "f^^TH ̂ HTT ̂  31^f^ ̂  ̂  "ferfcr ̂
^ 3ft^ f^«TH ̂  % 3T?2r^ ̂

^ MWN lq-ciKltil-1 ^(jcti ctil

[A] ^nrr 3te2|^

[B] f^WWTT3Teziy^^?l4^ii^

■3#R7R^'|l

[D] ^ chl4^i^ -rf ?TFT ^
3rTf^chH. *T^ ^ 1

25. i^jl'jfl ^*d "f^FTFift ^^TFT ^

[A] Tmte

[B]

[C]

[D] HKx|T<

28-A

26. W^ ^ ̂  t^sji
(^ei "^t "Rr^rf <+j<cfl "I?

[A]

[B]

[C]

[D]

27.

■^RT t?

[A] KTRM

[B] ^sicri^<

[C]

[D] ^

[A] «frw

[B]

[C] ^

[D] WMW

29. "q;^

[A] lo^wfq

[B] 10^2^^

[C] lO^^Wf

[D]

t?
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B

23. What is the function of E-TALL

in E-Governance?

26. Barna project canals irrigate
which district of Madhya

[A] To perform electronic
Pradesh?

transactions [A] Hoshangabad

[B] To perform electronic tally [B] Vidisha

[C] Dissemination of statistics [C] Raisen
on e-transactions of

e-Govemment projects [D] All of the above

[D] Electronic transaction
Where is Madhya Pradeshlearning

27.

Institute of Social Science

24. If the Assembly is dissolved
Research located?

before its term and a proposal for [A] Bhopal
removal of the Speaker of the
Assembly is to be considered. [B] Jabalpur
then who will preside over the
meeting? [C] Ujjain

[A] Speaker of the Assembly [D] Indore

[B] Speaker of the Assembly has
28. Where is the State Forest

no right to participate in the
Research Institute located?

proceeding.

[A] Bhopal
[C] Deputy Speaker will preside

as Speaker. [B] Jabalpur

[D] Deputy Speaker has no right [C] Indore
to participate in the
proceedings. [D] Balaghat

25. The biildiplace of Nirguni Sant 29. A petaflop is equivalent to
Singaji is

[A] 10® Hop
[A] Raghogarh

[B] 1012 flop
[B] Khajuri

[C] Budhni
[C] 1015 flop

[D] Nadchand [D] lOi^flop

28-A [P.T.O.



30. WiMAX IEEE

OTrnftcJ"!!

[A] 801.12

[B] 802.16

[C] 803.12

[D] 805.16

31. cTmR 1TTB "S

[A] 31?r^

[B] ̂

[C] ̂

[D]

32. "gp^ "fen ̂  ̂ '3T^ %

WT

[A]

[B] ^

[C] ^

[D]

33. 356 % <MMH

TT^gf^ wg

l^rggto 3ifci^ 1^ tT

[A] W3TWm

[B] ̂ErTftg5 f^4)ddl

[C] ̂ Tw1^

[D]

28-A

34.

35.

36.

[A] ̂ (5^

[B]

[C]

[D]

HMWid 3ftT

t?

[A] ^ - "^ftgr

[B] ̂  ^

[C] Hl^ ̂  — <il^l

[D] ^

^^^ "g^ ̂  Tft3

[A]

[B]

[C] TR3PT

[D] WK

37. Rnfcifed^^gSn sdMI g<H t^ldl

(1)

(2)

(3)

(4)

[A] 1

[B] 1 3^ 2

[C] 1, 2 3;^: 3

[D]

I

10



30. WiMAX technology is based on 34. Social Commerce is a of

IEEE standard. e-commerce.

[A] 801.12 [A] Set

[B] 802.16 [B] Subset

[C] 803.12 [C] Powerset

[D] 805.16 [D] Superset

31. In which month is the highest 35. Where is Nagmori Jewellery

temperature recorded in Madhya worn and what is it made of?

Pradesh? [A] On the neck - Gold

[A] April [B] On the legs - Silver

[B] May [C] On the nose - Gold

[C] June [D] On the aim — Silver

[D] July 36. Where is Muktibodh Srijan
Peeth located in Madhya

32. Which river was known as 'Avanti Pradesh?
River' in ancient times?

[A] Ujjain
[A] Shipra River

[B] Bhanpura
[B] Narmada River

[C] Rampura
[C] Betwa River

[D] Sagar
[D] Chambal River

37. Which of the following provides

33. According to Article 356 of the Blog Services?

Constitution, under what (1) Word Press
conditions can the Governor send

a recommendation report to the (2) Blogger

President for imposing (3) Windows Live Spaces
President's rule in the State?

(4) Live Journal
[A] External attack

[A] 1 only
[B] Constitutional failure

[B] 1 and 2 only
[C] Armed rebellion

[C] 1,2 and 3 only

[D] None of the above [D] All of the above

28-A 11 P.T.O.



38. ^ ̂ ^

t?

[A]

[B]

[C]

[D]

39. Rnl^fed ^ ̂

^ t?

[A]

[B]

[C] U.4iJ.d^^H

[D]

40. 1TSIT

f?

[A] JHd^^l, -Mldiyid, 3TTTOJd^

[B] ̂=tcriy,<, fe'l<lefl

[c] raJiOcfl, ̂ T?i35T,

[D] 1^FT^, ̂T^T3?T,

28-A

41. i%H ^ 3TteT ̂  ^

[A]

[B]

[C] ̂  "SRHR ̂ '^di

[D]

42. KST TT^ ^ %

^ % Ri^cflch<ui ̂  ̂  ten wr
t?

[A] ̂ ^%5RT

[B] ^^<dl 3Tf^PTR

[C] 37Zd 1J5

[D] 13;^
%5RT

43. 3T^T?^ ̂

3nf?

[A] 1951

[B] 1953

[C] 1956

[D] 1958

12
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38. Which is not a part of Satpura
coalfield?

[A] Pench valley

[B] Kanhan valley

[C] Pathakhera

[D] Johilla vaUey

39. Which of the following is not an
anti-spam software?

[A] Bogolllter

[B] DSPAM

[C] Mlkpam

[D] SpamAssassin

40. Which are the major thermal
power stations of Madhya
Pradesh?

[A] Satpura,
Amarkantak

Balaghat,

[B] Jabalpur, Amarkantak,
Singrauli

[C] Singrauli, Satpura, Jabalpur

[D] Singrauli,
Amarkantak

Satpura,

28-A 13

41. Which ruler made Orchha the

capital of Bundelkhand?

[A] Champat Rai

[B] Chhatrasal Bundela

[C] Rudra Pratap Bundela

[D] Dhangadeva

42. Under which scheme of Madhya
Pradesh Government, the

function of household

electrification is performed?

[A] Saubhagya Yojana

[B] Uija Saksharta Abhiyan

[C] Atal Griha Jyoti Yojana

[D] Pradhan Mantri Kisaan Uija
Suraksha evam Utthaan

Mahabhiyan Yojana

43. When did Nimad Lok Sahitya
Parishad come into existence?

[A] 1951

[B] 1953

[C] 1956

[D] 1958

[P.T.O.



44. shlRl^lO

[A] % - "^1^

[B]

[C]

[D]

45. TTM^ ̂ 7^ ̂  ̂  fen %TT

^t?

[A]

[B]

[C] ̂

[D] ̂

46. MR-iilvjiHi, wa^

[A]

[B]

[C]

[D]

47. ^ "f^ ciichuicb< % ^ ̂

[A]

[B]

[C]

[D]

28-A

48.

49.

SO.

'3TT3ft smr TTS2T ^

[A] lO^^T^i^, 1979

[B] 1 2009

[C] 23 2008

[D] 22^=7^^^, 1982

THl^K i\<\ HHlR4>dl THiilliMH 37f^Tft^m

(CAA), 2019

arflR^ ̂  Tjfrtt ̂  ?

[A] 2024

[B] Wft, 2024

[C] -RT^, 2024

[D] 37§^, 2024

3rfeg co^ W5T -fen

[A] % 1^77 TT4^P^

[B] MlRd'iJl % 17^

[C]

[D] 37kl57 % T7^ ̂  MN

14



44. The revolutionary Raja Mardan
Singh was related to

[A] Bundela dynasty - Banpur

[B] Pratihara dynasty - Rewa

[C] Chandela djmasty -
Khajuraho

[D] Kalachuri dynasty - Tripuri

45. The Malwa plateau slope is
drained in which direction?

[A] South

[B] West

[C] East

[D] North

46. Ken-Betwa link National Project
will prove to be a lifeline for
which area of Madhya Pradesh?

[A] Bundelkhand

[B] Malwa

[C] Baghelkhand

[D] Nimar

47. In which place was Kala Bhawan
founded by Shree Vishnu
Shridhar Wakankar?

[A] Ujjain

[B] Kaytha

[C] Indore

[D] Dewas

28-A

48. When did the campaign 'Aao
Banayen Apna Madhya Pradesh'
start?

[A] 10th November, 1979

[B] 1st November, 2009

[C] 23rd November, 2008

[D] 22nd November, 1982

49. When was the notification issued

by the Central Government
regarding the rules for
implementation of Citizenship
(Amendment) Act (CAA), 2019?

[A] January, 2024

[B] Februaiy, 2024

[C] March, 2024

[D] April, 2024

50. The famous musician Tansen was

initially in the court of which
ruler?

[A] Raja Ramchandra of Rewa

[B] Daulat Rao Sindhia of
Gwalior

[C] Baz Bahadur of Mandu

[D] RajaRudraPratapofOrchha

15 [P.T.O.



51.

54

^1l

[A] ̂ 3^

[B]

[C]

[D]

52. "qhriMt^ ̂  Ti^c^ ^

[A]

[B]

[C]

[D] wrar

53. 55^TTf5^ifkm1^B5^^|?

[A]

[B] iMWrt

[C]

[D]

3TFn t?

[A] "fefP^TPT^W

[B]

[C]

[D]

28-A

55.

56.

57.

WTT^: ̂  dNHH 3ft^ ̂  ̂

■^Tf MMI WT

t?
[A] cFETf^WT
[B] ft<p«H"j(
[C]

[D] [A] [B] ̂

3TWT % 1^^-"HT
I?
[A] wn^: Wrti
[B] <Hmi-Md: ^ ̂  ̂  tl
[C]
[D]

WTHT^R ^1

58.

1 : 15,000 3^ 1 : 30,000 % %
5cll^ dil 3nR^tH

4i"ldliJI4)%^^ TTHT^n?ITtl
[A]
[B] ^^TTHT
[C] ^^TTHT
[D] dy ^HHI

IFOV^ t?
[A] Ml STNcR

^I

[B] IFT? Ml ^ 1^ 3Mch<ui
t  im Ml

[C] li=Q<J)d ^^"MTM^Il
[D]

16



SECTION—B

GEOLOGY

51. is the youngest group of
Trichinopoly area.

[A] Uttatur

[B] Ariyalur

[C] Trichinopoly

[D] Niniyur

52. The important fossil of
foraminifera is

[A] Fusulina

[B] Cerithium

[C] Turbo

[D] Physa

53. The Nummulites fossils are from

class

[A] Gastropods

[B] Foraminifera

[C] Lamellihrachia

[D] Cephalopoda

54. The lower Gondwana flora is

named after which plant?

[A] Ptilophyllum

[B] Otozomites

[C] Glassopteris

[D] Nilssonia

28-A 17

55.

56.

57.

58.

At low temperature and shallow
crustal levels, which type of
deformation is normally found?

[A] Ductile deformation

[B] Brittle deformation

[C] Elastic deformation

[D] Both [A] and [B]

A wrong statement for

disconformity is

[A] Generally no folding in the
strata.

[B] Generally no faulting in the
strata.

[C] Presence of angular variation.

[D] The beds lying above and
below the surface of erosion

are almost parallel.

The aerial photographs
with a scale ranging between
1  : 15,000 and 1 : 30,000 are

usually treated as
photographs.

[A] Medium scale

[B] Large scale

[0] Nano scale

[D] Small scale

What is the IFOV of a sensor?

[A] The angle of incidence of
light on a sloping surface.

[B] The area on the surface that
is theoretically viewed by the
instrument from a given
altitude at a given time.

[C] It measures the integrated
field of visuals.

[D] Ability to depict
infrastructure and land cover

area.

[P.T.O.



59.

^ ̂ tr ;5rR^ 3i^ 11

[A] y^HK^JI

[B] ̂rMmteioiTR^

[D]

60. PiM^iRaci ^I^y.:

(a)

(b) ̂

(c) 3Tft^

(d) 3TOf^

(i) ^

«tj<cfl "I I

^iij 13;^

(Hi) ^

T3^

IWlcf 1^ Tl

(iv)

cK4i 3mci(r1 hIcI^I

^ fcj^ "^f "^Icft

(a) (b) (c) (d)

[A] (i) (ii) {in) (iv)

[B] (ii) (i) (iii) (iv)

[C] (n) (i) (iv) (iii)

[D] (i) (ii) Civ) (in)
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61.

62.

63.

64.

^  3Tte

"3^^ cFfT ̂ ricn "I I

[A] 41^ivh

[B]

[C]

[D] ^^ikRiT

^  1^ ^'fe^TTfer

■fe?n wt?

[A] ftr, ^

[B] ^5i^Rhih3 3^ "Rrsitit^

[c] jtdq^NafkRii

[D] r^^^d<, srs^dT 3ft^

TT?2T "51^ ̂  f^%q, 1^ ̂  ̂
Hl^xl4"tf"TOT^TOT t?

[A] ^qfeifd

[B] ^X<l^d

[C] yi^ldl^d

[D] <^^<l^d

tt4

[A]

[B] (PGE)%i^^

[C] ^ld^>Hl^d-fe

[D] ^
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59. The combination of aerial

photography and provides
information on relatively large
areas without necessitating
survey inspection on the ground.

[A] Photo transmission

[B] Photographic interpretation

[C] Photo evaporation

[D] Photosynthesis

60. Match the following ;

(a) Strike (i) A direction which
always indicates
the horizontal

plane.

(b) Dip (ii) A line which
exists on the

ground surface.

(c) Syncline (in) A fold that is
convex upward
towards the

center and dips
are in opposite
direction to

each other.

(d) Anticline (iv) A fold that is
concave towards

the center and

dips towards the
center of the

structure from

both side.

(a) (b) (c) (d)

[A] (i) (U) m (iv)

[B] (n) (i) (Hi) (iv)

[C] (ti) (i) (iv) (Hi)

[D] (i) (ii) (iv) (Hi)
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61. Fossils, particularly the
microfossils, whose range is
short and show wide geographic
distribution are called

[A] Index fossils

[B] Ichnofossils

[C] Chemical fossils

[D] Body fossils

62. The shell of Belemnite is divided

into

[A] Head, Tentacles and E^es

[B] Taxodont, Dysodont and
Schizodont

[0] Phragmocone, Siphuncle,
Protoconch and Guard

[D] Diductor, Adductor and
Muscle impression

63. In Madhya Pradesh, Manganese
ore deposit is found in
association with which of the

following rocks?

[A] Gondite

[B] Kodurite

[C] Khondalite

[D] Laterite

64. Copper, nickel and chromium
are pathfinders for

[A] Uranium deposits

[B] Deposits of Platinum Group
of Elements (PGE)

[C] Wolframite-Tin deposits

[D] Gold deposits
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65. WT24

^ tTTOT I, ̂  ^ 1^
^  ̂ CTR^ t 3;^ ^ ̂ ̂

[A]

[B] 4d<HlJld ̂ J^dl41d<

[C]

66. ^41-iii}H ̂  tl

[A] ■^%3TRFRTr^^TRT3mT^
WT

[B] Pi^crfl'^^"!
[C] WT

[D] ^ ̂  XRTRte gyft %

67. ^ng^'STRT^

t?

[A] 3TCRI^ ^TfgSRI TIHT

[B] "^fFTg^ «TTg^ "STRT

[C] "STHI

[D] HMc^i ^Tg^FET yM

68. 3T^R^, ̂  3TRt^
^■f, ̂ ti^tnici ■f

[A] "fefte^
[B]

[C]

[D] 3H<lTh ■? ^
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69.

70.

71.

72.

^5Rf^TcT 3n^ 3Tcf^?H% RHcl
I, =h^dlrlf

[B] iTwrfk

[C] 31cRcTT^ft^

[D] ^ ^

[A]

[B]

[C]

[D] c^l^dl«Ml^<y

R^kui ̂  y.cb dch41ch
1 W2m "6 ^ w
Pi5^l|ch % 3TTTO "SFTT^ "^fHt
^tl

[A] f^'iilMraJi

[B] fel^id ̂ 3^^

[C] 3MR^1^

[D]

[A] ^r^'#^s=^TntT^-^-%3n;TOT-|i
[B] "tor^TMtl

[C]

[D]



65. _ measures the total strength
of the magnetic field, but does
not measure the direction of the

magnetic field and so shows a
total field anomaly (total
intensity anomaly).

[A] Gravimeter
[B] Fluxgate magnetometer
[C] Scintillation counter
[D] Proton Precession

Magnetometer

66. The purpose of comminution is

[A] Particle size reduction or
liberation of particles

[B] Dewatering
[C] Classification of particles
[D] Concentration of valuable

particles on the basis of
chemical properties

67. Which of the following is an
example of Metallogenic Province
in India?

[A] Aravalli Metallogenic
Province

[B] Chota Nagpur Metallogenic
Province

[C] Singhbhum Metallogenic
Province

[D] Malwa Metallogenic Province

68. Ore minerals which are generally
formed by ascending solutions
are termed as

[A] Secondary or supergene

minerals

[B] Primary or hypogene
minerals

[C] Gangue or minor minerals
[D] None of the above

28-A

69. Hydrothermal deposits which
are formed near the igneous
intrusion present at the depth
of the Earth are called

[A] Hypothermal Deposits

[B] Mesothermal Deposits

[C] Epithermal Deposits

[D] None of the above

70. The vertebrates are also known

as

[A] Craniates

[B] Aves

[C] Graptozoa

[D] Trilobites

71. is a technique of spatial

21

positioning by means of which a
digital image is assigned a
reference system based on

known coordinates.

[A] Georeferencing

[B] Digital elevation method

[C] Dimension energy method

[D] Geohazards

72. Clinometer compass is used

[A] To measure the elevation of
strata.

[B] To measure the amount of
dip.

[C] To find out the location on
the map.

[D] All of the above

[P.T.O.



73,

^  ̂li

[A]

[B]

[C] w^ff^

[D]

74. IW^Pto'"^, "^"a^f^WT

[A]

[B] mPr^

[C]

[D] <ix1< IsbiRN^

75. 3^^ ifTdT^TlK 3fk «ii{lcQ

ft'Hil^a cil®(H y^K

■^^1?

[A] ^Mhrra^^™:

[C] 3mWTf5 3r^

[DI "SJcFR

28-A

76. ^ Rjki41 3qji# ^
"^rf^ ■? wr wr 13ft( ̂  eTWT

[A] 26,000 km

[B] 56,000 km

[C] 36,000 km

[D] 16,000 km

77. SPOT-1 ̂ idl^d 5f^ro gfRT "TO 2n

[A] 1990 ̂

[B] 1986

[C] 1980^

[D] 1968^

78. Ti^t^ xsto ■% 5T5^,

■f^ ts, ̂ TKcfk ^ ̂  ̂  KT^

[A] I'm

[B] 12^

[c] em

[D] 18TTTf
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73. The joints looking like scales of
an onion are known as

[A] Columnar joints

[B] Pinnate joints

[C] Sheet joints

[D] Systematic joints

74. ^Mississippian' epoch represents

[A] Permian Period

[B] Early Carboniferous Period

[C] Early Jurassic Period

[D] Late Cretaceous Period

75. The suture line with simple and
rounded saddles and finely
divided lobes is known as

[A] Goniatite type

[B] Orthoceratite type

[C] Ammonoid type

[D] Ceratite type

28-A

76. The weather monitoring and
telecommunication satellites are

placed in a geostationary
position and revolve around the
earth at an altitude of nearly

[A] 26,000 km

[B] 56,000 km

[C] 36,000 km

[D] 16,000 km

77. The SPOT-1 satellite was

launched by France

[A] In 1990

[B] In 1986

[C] In 1980

[D] In 1968

78. According to National Mineral
Policy, time limit for taking
decision by Indian Bureau of
Mines and State Government on

submitted applications for
approval of mining lease is

[A] 1 month

[B] 12 months

[C] 6 months

[D] 18 months
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79. ^ ^ ̂

^  ̂ % 3TT?m m

[A]

[B] ^

[C] 5Nte5[ ̂  ^5fFnpr

[D] 3Tqft^ "sn ^T^njcl

80.

[A] 5e4il

[B] ̂

[C] irejR ̂  ̂

[D]

81. jil^ciHi xTfHf ̂  ^ 1^#

"I ?

[A] 3TT^ ̂^fRt ̂  3Tc^rf^ 3f^SR

[B] ̂  ̂ ̂ ^STfFff ̂  W|

[C] ̂  "^arr ^ ̂  t

[D]

28-A

82.

^ t

[A] W-1^

[B] IR

[C] wnfWt

[D]

83. ̂  ^ "3^ ^ w

3H|cbK'?WT"|

[A] 1^i^'#WI^e!f

[B] WRSTTTO"^

[C] f^i[^<u|

[D]

84. ^nsJn?iT^ t^T W:^, ̂  ̂RT% ̂

yfaPif^c^ t, t

[A] 3^FTm TffSR

[B] l^l^dd ̂ 3^ 1^

[C] f^l^dd ̂ 3^^ mSR

[D] 3TRFT^-feflT
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79. Which aquifers may be classified
based on presence or absence of
a water table?

[A] Deep or shallow aquifer

[B] Semi-confined or confined
aquifer

[C] Unconfined or semi-confined
aquifer

[D] Unconfined or confined
aquifer

80. The tonal range of a flat surface
in a satellite image is

[A] Light

[B] Dark

[C] Medium to dark

[D] Dark to medium

81. Why there is no good
groundwater condition in the
lower Gondwana rocks?

[A] High intrusions of igneous

rocks

[B] It is composed of compact
shale rocks

[C] It is mainly composed of
sandstone

[D] Highly fractured rocks

28-A

82. Longest wavelength region of the
electromagnetic spectrum is

[A] X-Rays

[B] Thermal IR

[C] Gamma Rays

[D] Radio waves

83. The size of effective atmospheric
particles of Rayleigh scatter is

[A] Smaller than the wavelength
of radiation

[B] Same size as the wavelength
of radiation

[C] Larger than the wavelength
of radiation

[D] None of the above

84. A numerical data structure that

represents the spatial
distribution of the altitude of the

terrain surface is

[A] Dimension elevation model

[B] Digital elevation method

[C] Digital elevation model

[D] Dimension energy method

2 5 [P.T.O.



85.

^ 3TTmftrT '|i

[A] cti(3l<cll "S 3TcR

[B] ̂ %'ER^'^ 3^cR

[C]

[D] -^Idchdl 3T^

ff^ iTH^86.

[A] y|ij>(ri^TjarRft1^^

[B]

[C] ̂

[D]

87. "f^ "Pr^ ̂

^R<Tf^ ̂  ̂ ^ 5TflmR ̂  TTtaf

+^dldl tl

[A]

[B] <^l4 3H^HICl

[C]

[D]
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88. ^ 3TRcT dc^HH, ̂  ^

i^v^rr wicTT ^

[A] ̂

[B] ̂

[C]

[D] fe

"^<dl ̂ ?

[A] tl

[B] ̂  ̂ W ̂  ̂ ̂

[D]

90. ter "^, dl^H^crOd
c;c||^ ̂  3ff^I^ "I?

[A]

[B]

[C]

[D] 3rT4-Mte^^5TenjcT
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85. Jigging is the process of
concentrating the minerals,
exclusively based on

[A] Difference in hardness of
particles

[B] Difference in density of
particles

[C] Difference in magnetism of
particles

[D] Difference in electrical

conductivity of particles

86. is not the standard method

of pollution control barrier.

[A] Natural clayey deposits

[B] Cut-off walls

[C] Landfills

[D] Synthetic liners

87. The ratio between the thickness

of mineral deposit mined and
thickness of overburden actually
removed is called

[A] Stripping Ratio

[B] Working Ratio

[C] Profit Ratio

[D] Tonnage Factor

28-A

88. Vertical or inclined excavation

made upwards to meet the level
above in the mine or to extract

the mineral above is

[A] Stope

[B] Raise

[C] Cross cut

[D] Winze

89. Which statement correctly
describes the soil-water zone?

[A] Always saturated with water.

[B] Water content is never
affected by rainfall.

[C] Might be saturated during
rainfall or irrigation.

[D] Uniform thickness in all
kinds of soil.

90. In which aquifer, groundwater is
under greater pressure than the

atmospheric pressure?

[A] Perched aquifer

[B] Unconfined aquifer

[C] Confined aquifer

[D] Semi-confined aquifer
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91.

STr^rflT^'^ t?

[A] 3RfftfeTOT?fT^

[B]

[C]

[D]M

92. ^iTN^,

[A] pH^

[B] cTmR

[C]

[D] ̂3ff^#SR

93. ̂  TO"?,

[A] ̂ 3^cW ̂  rRm (a^)

^^TcR (a3) ^

[B] ^ cHT^ (ag)

■ixcidH "g^PT "dTO (g^) ^

[C] ^ ^ ̂  yfci-c^<H ^
cRR 3T^ (G2) % ^ 11

[D] [A] 3ftK [C] ̂  f
28-A

94.

95.

H(rlRl-UI %
^ M^Vl ^Idl "tl

[A] ■'cfrtt

[B]

[C]pFT

[D]

[A]

[B]

[C]

[D] Hl^st^lwd

96. WTTW:

f ?

[A] ^^3nf3^t^ff^^'g[Rr

[B] ^ "WcTO sTRT

[C] Isb^^d 3T1TO

[D]

97. % 1^ WTT ̂

t?

[A]

[B] 3r^37^^fm

[C] y«t>Ri

[D] 3rTOi Miidcfn
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91. The seismic waves velocities are

excessive in which type of
geological materials?

[A] Unconsolidated sediments

[B] Solid igneous rocks

[C] Loose sand

[D] Soil

92. Which groundwater quality
parameter can be rapidly
determined by measuring the
electrical conductance of a

groundwater sample?

[A] pH level

[B] Temperature

[C] Total dissolved solids

[D] Dissolved oxygen

93. In a normal Fault,

[A] Maximum principal stress
(a^) is vertical and minimum
principal stress (03) is
horizontal.

[B] Minimum principal stress
(03) is vertical and maximum
principal stress is
horizontal.

[C] Intersection line of the two
fault planes is parallel to the
medium stress axis

[D] Both [A] and [C] are correct

28-A

94. The placer tin deposits of
Malaysia are mined using
method.

[A] Glory hole

[B] Sluicing

[C] Dredging

[D] Gophering

95. Gridiron or Quadrille structures

are found in

[A] Orthoclase

[B] Plagioclase

[C] Albite

[D] Microcline

96. Garnet is usually identified in
thin sections by its

[A] Isotropic nature

[B] High relief

[C] Crystal shape

[D] All of the above

97. Diaphaneity refers about a
mineral's ability to

[A] Pleochroism

[B] Absorb light

[C] Transmit light

[D] Reflect light

2 9 [P.T.O.



98. ylri m

[A] wrm 690

[B] WW\ 590

[C] WW\ 790%^

[D] wm 490

99. iT?2r^ ̂  3Tfcfft^ ̂  ^ ̂

^ ̂ 3fn: ̂TOT "I ?

[A] 4i1R|4i1 I^^l

[B] TJ^rRR^

[C]

[D] 3Tlicn7n^1^

100.

[A]

[B] RTg

[C]

[D] RFRR ̂  ̂

101. Trf|RT t

[A] WRT R^RTFR if

[B] 31ZcTtf^R?WR-5

[C] 1|^ H^\mi ̂

[D]

2S-A

102. ■ptowr1^^'5l^4i^WTB7fNR^

[A] F= C-(j) + 2
[B] F= C+^ + 2
[C] F= C+if-2
[D] F=(t)+ C+2

4)^dldl|l
103.

104.

105.

[A] 41fl4>l^f^4>7raR
[B] iJll^4>7ra4
[C] <IMI^[^7raq-
[D] R^-3TfM^7]5^f

ifted^ XlWte 4JfTcb<u| -fen
3TTmft?f|?
[A]

[B] cTc^ "STgRTT
[C]

[D] XTRRf^

3n^
(RRo^oSTT^o) % 3R3RR
^t?

[A] 4l^RRoT^o3Tlfo = l :^R^Rd WT

[B] ^RRoTRTo3?l^o<l

[C] ^ RRoRRo3TT|o > 1-5 : ̂
t  11

[D]
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98. The latent heat of condensation

to the surroundings per gram of
water is

[A] About 690 calories

[B] About 590 calories

[C] About 790 calories

[D] About 490 calories

99. What is the main cause of excess

water downward movement in

the intermediate zone?

[A] Capillary action

[B] Surface tension energy

[C] Gravity force

[D] Hygroscopic action

100. The manganese deposits are
found in

[A] Bichua Formation

[B] Chorbaoli Formation

[C] Lohangi Formation

[D] Mansar Formation

101. Rodrigues Triple Junction is in

[A] Pacific Ocean

[B] Atlantic Ocean

[C] Indian Ocean

[D] Arctic Ocean
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102. The equation which expresses
Gibbs phase rule is

[A] F= C-<t) + 2

[B] F=C+^ + 2

[C] F= C+(l)-2

[D] F=^+C+2

103. Overgrowth of plagioclase on
alkali feldspar is called

[A] Mjrrmekitic texture

[B] Graphic texture

[C] Rapakivi texture

[D] Sub-ophitic texture

104. Goldschmidt geochemical
classification is based on

[A] Distribution of elements

[B] Abundance of elements

[C] Chemical charge

[D] Chemical affinity

105. Which is the correct option as
per Standard Sinuosity Index
(SSI) for river morphology?

[A] If SSI = 1 : It represents,
sinuous course.

[B] If SSI < 1 : It represents,
straight course.

[C] If SSI > 1-5 : It represents,
meandering course.

[D] All of the above

[P.T.O.



106. ^ ^

3TTf^iT^ ("f^mWNt) % ^

(a) ^ 13;^ wm 3TTf^H^
"teRf! i^Rnn

fbj ̂ dl<rfl<K W (ii)

Ri-MW

fc; 3TRmTOT^ (in)

/dj (iv) ^Tii<^K -dTii^
Rchi^

faj (b) (c) (d)

[A] (i)

[B] (ii)

[C] (i)

[D] (Hi)

(n)

(i)

(U)

(iv)

(iv)

(Hi)

(Hi)

(i)

(Hi)

(iv)

(iv)

(H)

107. ^ 3f2m ^ ̂ ̂itw

[A] 1989

[B] 1957

[C] 1966

[D] 1993
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108. ^ W

[A]

[B] 3MMR5K

[C]

[D]

109.

^ ̂ ̂ aicfif^ ̂ snfM % insqir

^ ̂ Wt I ?

[A]

[B]

[C] 3T^^n^t W

[D]

110. (Ji^1h41)

[A]

[B] % TRW ̂

[C] 31?2RR1

[D] TPJif ̂ ^TRWI
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106. Match the following drainage 108. What is the name of Gypsum
patterns with underlying lithology having fibrous and silky nature?
and choose the correct one :

[A] Satin spar
(a) Dendritic (i) Uniform

drainage lithology [B] Alabaster

pattern
[C] Selenite

(b) Trellis (ii) Dipping
[D] Amositedrainage strata with

pattern alternate

bands of hard 109. Which province in India, is

and soft rocks recharged by the water
transmitted through

(c) Rectangularfinj Jointed/faulted intermundane valleys of the
drainage lithology Himalayan highland province?
pattern

[A] Cenozoic sedimentary
(d) Radial (iv) Circular upland province

drainage
pattern [B] Cenozoic fault basin

(a) (b) (c) (d) [C] Pre-Cambrian sedimentary
province

[A] (i) (ii) (iv) (in)

[B] (ii) (i) (in) (iv)
[D] Ganga-Brahmaputraalluvial

province

[C] (i) (ii) (Hi) (iv)
110. Taphonomy is the science

[D] (in) (iv) (i) (ii) dealing with

107. In India, First National Mineral [A] Study of condition of death

Policy was announced in which and burial of the organism.

of the following years?
[B] Modes of preservation of

[A] 1989 fossils.

[B] 1957 [C] Study of pore and spore of
fossils.

[C] 1966
[D] Preservation of entire

[D] 1993 organism.
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Ill,

[A] 2-80%

[B] 0-61%

[C] 2-14%

[D] 0-75%

112. 'Tniq 3^1 31TO:

I

[A]

[B]

[C] TTkrf^^

[D]

113, (%TRT 1 : 50,000) ̂

Trg ̂ :?TTcR 3TT^

[A] 1° X 1°

[B] 15' X 15'

[C] 4° X 4°

[D] 7'30" X 7'30"

28-A

114. 23-4feft^^

[A] ^ % dlM4H % 3RR 4^
Talent I

[B]

[C] dlMHM^^ WT

[D]

115. 37f^T^ ̂  Tt^
^ififd yc^RId chi.ai't,

[A] ̂ ^uiicHch m

[B] Srfc^fTO "HHR

[C] JH-dRun^

[D] 3jdl4^mHlJ]d MRdJd TO

116. BRT 3TftclOT

[A] ^ ̂ 3^ VdHdl "^MT

didi!

[B] Rrl'chd TTE3 ^3^ ft™

[C] 3^ if^Hcii c^icii criNi l

[D] TJ53 ̂  ft™ WT

"^Brf^cR crJNi I
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111. What percentage of the world's
total water is held in the form of

ice-caps and glaciers?

[A] 2-80%

[B] 0-61%

[C] 2-14%

[D] 0-75%

112. 'Garden Balsam' or 'Rose

Balsam' often grow over the
outcrops of

[A] Uranium deposits

[B] Zinc-Lead deposits

[C] Copper deposits

[D] Iron deposits

113. The latitudinal and longitudinal
coverage of toposheet
(scale 1 : 50,000) is

[A] 1° X 1"

[B] 15' X 15'

[0] 4° X 4°

[D] 7'30" X 7'30'

28'-A 35

114. 23-4 Degrees Earth's axial tilt

[A] Maintains the temperature
difference of Earth's sxirface.

[B] Increases the Earth's surface
temperature.

[0] Decreases the Earth's
surface temperature.

[D] Unaffects the Earth's surface
temperature.

115. The centre of volcanic accretion

may exhibit a particular
geometry, which is known as

[A] Protective fault

[B] Overlapping spreading
centre

[C] Propagating rift

[D] Intra oceanic transform fault

116. Pahoehoe lava is characterised

by

[A] High viscosity basaltic lava
with fractured surface.

[B] High viscosity andesitic lava
with clinkery surface.

[C] High viscosity rhyolitic lava.

[D] Low viscosity basaltic lava
with ropy surface.

[P.T.O.



117.

[A]

[B] 5^r#in^

[C]

[D]

118. 1^

[A] 4<M[^d

[B]

[C] 3TRf^ "SRiRr "tf

[D] 3TT8ff^^^

119. cTTgq^^eT^ng

[A] MNiy-fl

[B] HedlHdl^

[c]

[D] 5W^

120. ̂ic^n WT ̂ I

[A] — ■fin^'^

[B] ^

[C] ^lol

[D] ^1h{1

28-A 3 6

121. (Jcfl'4^ =hlildl MPTT^TOT

[A]

[B] ^ Hl^i

[C] arflr^-^TT^zto^-rn^

[D]

122. ^  3?T5 "^THT

[A] 32001 2800 Ma

[B] 4600^ 4000 Ma

[C] 4000^ 3600 Ma

[D] 3600^ 3200 Ma

123. fcr (WDC) %
^ ̂TPT "I?

[A]

[B]

[C] ^lRH^d<

[D]

124. ddRd 3xddH

[A]

[B]

[C]

[D] %



117. High pressure polymorph of 121. Tertiary Coal deposits contain
quartz is called

[A] High sulphur content

[A] Cristobalite
[B] Low sulphur content

[B] Tridymite
[C] High nitrogen content

[C] Coesite
[D] High phosphorous content

[D] Stishovite
122. is considered as the aee of

118. In which condition, Becke line 'Eoarchean'.

can be seen?
[A] 3200 to 2800 Ma

[A] In reflected light
[B] 4600 to 4000 Ma

[B] In conoscopy
[C] 4000 to 3600 Ma

[C] In transmitted light

[D] 3600 to 3200 Ma
[D] In orthoscopy

119. Tadpatri Formation belongs to
123. What is the name of the

basement rock unit of the

[A] Papaghni Group Western Dharwar Craton (WDC)?

[B] Nallamalai Group [A] Gorur Gneiss

[C] Chitravati Group [B] Sargur Group

[D] Kumool Group [C] Peninsular Gneiss

[D] Closepet Granite
120. Find the wrong pair.

[A] Bhander Group — Sirbu
124. Highest point of a folded surface

Shale
is

[B] Rewa Group — Panna Shale
[A] Hinge line

[C] Kaimur Group — Suket
[B] Trough point

Shale [C] Crest point

[D] Semri Group — Olive Shale [D] Inflection point
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125. :

(a) wrq (i) A"

(b) ^ ̂ (ii)

(c) 3TOWft 3Tq^ (in) ̂

126.

(d) «W<<J| ̂ (iv)

(a) (b) (c) (d)

[A] (ii) (iv) (i) (Hi)

[B] (iv) (ii) (Hi) (i)

[C] (iM) (iv) (i) (ii)

[D] (iii) (ii) (i) (iv)

M^cidH 4^6dldl

[A]

[B]

[D]

28-A

127.

^ I ?

[B]

[C]

[D] HI-McrilHI^d^H

128.

[A] ̂ 5Tft?TO"S

[B]

[C]

[D] ^

129. "urnf^Jter ̂  ̂  mcT % Rwif^ch,

[A] ̂

[B]

[C] ̂

[D]^

130. "gq^^ ^ t

[A] q^ "iNk ̂ dN<ui

[B] 51^W^

[C]

[D] ̂[HMd W< % 'fl'^
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125. Match the following Geological
symbols :

(a) Vertical bedding (ij

plane

(b) Horizontal joint (ii)

plane

(c) Non-plunging (in) ̂
anticline

(d) Horizontal (iv)

bedding plane

(a) (b) (c) (d)

[A] (ii) (iv) (i) (Hi)

[B] (iv) (ii) (Hi) (i)

[C] (ixi) (iv) (i) (ii)

[D] (Hi) (ii) (i) (iv)

126. Deuteric alteration of pyroxene
to amphibole is called as

[A] Biotitization

[B] Sericitization

[C] Saussuritization

[D] Uralitization

28-A

127. Intrusion of igneous pluton into
carbonate rocks typically
develops

[A] Orthoquartzite

[B] Paraquartzite

[C] Skams

[D] Mylonites

128. Mawmluh cave is located in

[A] Chhattisgarh

[B] Meghalaya

[C] Sikkim

[D] Jharkhand

129. Who discovered Ramapithecus
from the Siwalik of India,
Pakistan and Kenya?

[A] Lewis

[B] Leakey

[C] Dart

[D] Broom

130. Supergene sulfide enrichment
process occurs in

[A] Deep seated magmatic
environment

[B] Volcanic condition

[C] Plutonic condition

[D] Beneath groundwater table

3 9 [P.T.O.



131. ^

[A] <i41^n ^

[B]

[C]

[D] ̂<^K^l(l

132.

7T^^ f^cbl4H ̂ t?

[A] ̂ ewf^FPTTcR^

[B] ^\mK^\

[C] 3N^^^™Wi

[D] chMid<ui

133. 3TT3

[A] 63 ̂  68 Ma

[B] 55 tT 60 Ma

[C] 70^ 75 Ma

[D] 50-^ 55 Ma

28-A

134. ^ 3T«}-3n3 3T^ ̂  "f^T^

(a) (i) 0-71x109 years

(Jj) u235__p^207 4-50x10^ years

(c) Rb^"^—Sr®"^ (in) l-SQxlG^ years

(d) K^O--Ar^O 4-70xl0i° years

ra; (c) (d)

[A] fii;; (i) (a) (in)

[B] A'i; (i) (in) (iv)

[C] ri; (ii) (Hi) (iv)

[D] (i) (iv) (in)

135. STTF ^

[A] WI 3ftK ̂ -3TT^(cT^

[B] "Srf^ 3fk ^ t

[C] 3rf^, 3ftT ̂  t

[D] ^ t

136.

[A] BROT

[B]

[C]

[D] %cr%TFft

40



131. Which of the following formations
does not belong to Damuda
Group?

[A] Raniganj Formation

[B] Kota Formation

[C] Barren Measures Formation

[D] Karharbari Formation

132. Under which type of
metamorphism, the
poikiloblastic texture develops?

[A] Contact metamorphism

[B] Regional metamorphism

[C] Cataclastic metamorphism

[D] Paired metamorphism

133. The age of Deccan volcanic

activity is considered as

[A] 63 to 68 Ma

[B] 55 to 60 Ma

[C] 70 to 75 Ma

[D] 50 to 55 Ma

28-A

134. Match the half-life of the

radioactive pair and choose the
correct one.

fa; u238_pb206 (ij o-yixio® years

(b) u235_pb207 fiij 4-50x109 years

(c) Rb®^—Sr®'^ (in) 1-30x10® years

(iv) 4-70x10^° years

(b) (c) (d)

(i) (ri) (Hi)

(i) (Hi) (iv)

(ii) (Hi) (iv)

(i) (iv) (Hi)

(d) Ar''®

M

[A] (iv)

[B] (H)

[C] (i)

[D] (H)

41

135. 'Trio of Davis' is related to

[A] Structure, time and
geomorphic forms

[B] Time, process and
landscapes

[C] Process, structure and
erosion

[D] Structure, time and process

136. Which one is not a. deformation

structure?

[A] Convolute bedding

[B] Hummocky structure

[C] Flame structure

[D] Ball and Pillow structure

[P.T.O.



137. ̂  JHHH %

■^1 |l

[A]

[B]

[C]

[D] TitiWr^

138. ^ 3#C ite "M
tl

[A]

[B] ^ctciT ^

[C] oPi^l

[D]

139. 37^?n^ % ̂ tTR cfr "fen 31^

[A] PjdRld TO

[B] m

[C] m

[D] -^m

2S-A

140. 31^M^i?enrTT

[A] wrr

[B] ^

[C] JBTS

[D]

141.

^-^1?

[A] "y;#

[B]

[C] 3Te^ TT^

[D] arft^^FT^ "q;^ wKhT

142. *^<;i[?i«=t) 4lcil % "# 5<lld'4»i 5I^5iT
"I ?

[A] -=bmi^d-TTT^-

[B] -"m^d - diiildi^d -
wT-Ddi^d-^iddi^d

[C] ^"l<l^d - «ll4ldl^d -Tfi^ _
4:dT0dl^d-^mi^d

[D] ^TT^d - -Mldldl^d - dr^i\i<L -
cbMHl^d-Wlildl^d
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137. Crystals in which all bonds are
of equal strength are called

140. The ratio of inertial force and

gravity force is called as

[A] Desmic [A] Reynolds number

[B] Equidesmic [B] Weber number

[C] Isodesmic
[0] Froude number

[D] Monodesmic
[D] Mach number

138. Foliation occurs in slates and

schists rocks due to

[A] Faulting

141. Characteristic minerals of

eclogite fades are

[A] Omphacite and plagioclase

[B] Plagioclase and hornblende

[B] Folding of pre-existing rocks
[C] Albite and omphacite

[C] Syntectonic growth of
minerals

[D] Omphacite and pyrope

[D] Micro folding of rocks

139. Which type of fault is formed
when deformation occurs during
sedimentation?

142. Which one shows correct

Barrovian sequence of
metamorphism of pelitic rocks?

[A] Biotite - Kyanite-Garnet-
Staurolite - Chlorite

[A] Detachment Fault [B] Chlorite - Garnet - Biotite ~
Staurolite - Kyanite

[B] Domino Fault

[C] Strike-slip Fault

[C] Chlorite — Biotite — Garnet-
Staurolite - Kyanite

[D] Growth Fault
[D] Garnet-Biotite-Chlorite-

Kyanite - Staurolite
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143. w\ ̂  'm

[A]

[B]

[C]

[D]

144. f(7\ 3Tf^ 1^ t

[A] 3r-^ H^I^MK ̂

[B] WHFR ■?

[C] 3IW tt^WR Tf

[D] 3Tf^f^ iT^RTFK ■?

145. f^R^%'R^R^3mr?l^i^3Tf
vjTI-S^

[A] dld^JI t

[B] WRfFft'bSTl

[C] t

[D]

146.

"ll

[A]

[B]

[C] diHf^'MId

[D]

28-A

147. iiHwln

[A] %-%^¥TR

[B] Ml^ilf^dd

[C]

[D] 3?l[dPn

148. ^E^te^TRTRTf^^^l?

[A] MgaSiaOg

[B] Fe2Si20Q

[C] LiAlSi206

[D] CaFeSi205

3TFn t?

[A] d<<D^(l'4l

[B] IM^FRRFT

[C]

150. LILEs^^TRTte^fTRH'fenftt?

[A] <0-02

[B] > 0-02

[C] >0-03

[D] > 0-06
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143. In which part of India, porphyry 147. Moonstone is a variety of which
copper deposits are found? mineral?

[A] Khetri [A] K-feldspar

[B] Malanjkhand [B] Pyroxene

[C] Musabani [C] Hornblende

[D] Dariba-Rajpura [D] Olivine

144. The Ring of Fire is located in 148. What is the chemical formula of

[A] Atlantic Ocean
spodumene?

[B] Indian Ocean
[A] Mg2Si20g

[C] Pacific Ocean P]

[D] Arctic Ocean
[C] LiAlSiaOg

145. The line connecting the deepest
[D] CaFeSi205

or lowest points along a stream
bed is

149. The upper Gondwana flora is
named after which plant?

[A] Thalweg
[A] Vertebraria

[B] Isobar
[B] Ptilophyllum

[C] Contour
[C] Glossopteris

[D] Valley floor
[D] Gangamopteris

146, The lowermost formation in

Siwalik group is 150. The ionic potential of LILEs is

[A] Nagri Formation [A] <0-02

[B] Tatrot Formation [B] >0-02

[C] Kamlial Formation [C] > 0-03

[D] Pinjor Formation [D] > 0-06
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